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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. How can an unbalanced transportation problem be 

balanced ? How do you interpret the optimal solution 

of an unbalanced transportation problem ? 

,d vlarqfyr ifjogu leL;k dks larqfyr dSls fd;k tk 

ldrk gS \ vki ,d vlarqfyr ifjogu leL;k ds b”Vre 

lek/kku dk o.kZu dSls djrs gSa \  

2. You are working as a purchase manager for a 

company.  The following information has been 

supplied to you by two manufactures of electric bulbs : 

 Company A Company B 

Mean life ¼in hours½ 1300 1248 

Standard deviation (in 

hours) 82 93 

Sample size 100 100 

Which brand of bulbs are you going to purchase if you 

desire to take a risk at 5% ? 

vki fdlh dEiuh ds fy, ,d Ø; izcU/kd ds :i eas dk;Z 

dj jgs gSaA  
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fctyh ds cYcksa ds nks fuekZrkvksa }kjk vkidks fuEufyf[kr 

tkudkjh nh xbZ gSa % 

 dEiuh A dEiuh B 

vkSlr thou ¼?k.Vksa esa½ 1300 1248 

ekud fopyu ¼?k.Vksa esa½ 82 93 

izfrn’kZ vkdkj 100 100 

fdl czk.M ds cYc dks vki [kjhnuk pkgsaxs ;fn vki 5% 

tksf[ke ysus dh bPNk j[krs gSa \ 

3. The following data, give the ages and blood pressure of 

10 women : 

Age Blood Pressure 

56 

42 

36 

47 

49 

42 

60 

72 

63 

55 

147 

125 

118 

128 

145 

140 

155 

160 

149 

150 

(a) Find the correlation coefficient between age and 

blood pressure. 

(b) Determine the least squares regression equation 

of blood pressure on age. 

(c) Estimate the blood pressure of a women whose 

age in 45 years. 
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fuEufyf[kr vk¡dM+s 10 efgykvksa dh vk;q vkSj jDrpki ds 

gSa % 

vk;q jDrpki 

56 

42 

36 

47 

49 

42 

60 

72 

63 

55 

147 

125 

118 

128 

145 

140 

155 

160 

149 

150 

¼v½ vk;q ,oa jDrpki ds e/; lglEcU/k xq.kkad dks Kkr 

dhft,A 

¼c½ jDrpki dk vk;q esa U;wure oxZ izrhixeu lehdj.k 

fu/kkZfjr dhft,A 

¼l½ ml efgyk ds jDrpki dk vkdyu dhft, ftldh 

mez 45 o”kZ gSA 

4. Outline the steps involved in the Simplex algorithm for 

solving a linear programming maximization problem. 

Also define the technical terms used therein. 

,d jSf[kd izksxzkfeax vf/kdrehdj.k leL;k dks gy djus ds 

fy, flEiysDl dyu fof/k esa ‘kkfey pj.kksa dh :ijs[kk 

nhft,A mlesa iz;ksx dh tkus okyh rduhdh ‘kCnksa dks Hkh 

ifjHkkf”kr dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Distinguish between the Transportation model and the 

Assignment model. 

ifjogu izk:i ,oa fu;ru izk:i ds e/; foHksn dhft,A 

2. Describe the various elements of the queue. 

drkj ds fofHké rRoksas dk o.kZu dhft,A 

3. Explain the difference between expected opportunity 

loss and expected value of perfect information. 

visf{kr lqvolj gkfu ,oa ifj’kq)rk tkudkjh ds visf{kr 

eku ds e/; vUrj le>kb,A 

4. Explain the advantages of using time series analysis. 

le; Ükà[kyk fo’ys”k.k dk mi;ksx djus ds ykHk dh O;k[;k 

dhft,A 

5. Briefly describe the characteristics of the normal 

probability distribution. 

lkekU; izkf;drk forj.k dh fo’ks”krkvksa dk la{ksi esa o.kZu 

dhft,A 
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6. Examine critically the different schools of thought on 

probability. 

izkf;drk esa fofHké fpUru dh ‘kk[kkvksa dk leh{kkRed 

ijh{k.k dhft,A 

7. Explain the concept of regression and point out its 

usefulness in dealing with business problems. 

izfrxeu dh vo/kkj.kk dks le>kb, vkSj O;kikj dh 

leL;kvksas ls fuiVus esa bldh mi;ksfxrk crkb,A 

8. There is always a trade-off between Type I and Type II 

errors. Discuss. 

Type I vkSj Type II  =qfV;ksa ds e/; ges’kk nqfo/kk jgrh gSA 

le>kb,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Queuing models are prescriptive in nature. (True/False) 

drkj izk:i vkns’kkRed izd`fr ds gksrs gSaA ¼lR;@vlR;½ 



 [ 7 ] S–329  

 (A-97)  

2. The number of possible outcomes in a Poisson 

distribution is two. (True/False) 

IokW;lka forj.k esa lEHkkfor ifj.kkeksa dh la[;k nks gksrh gSA 

    ¼lR;@vlR;½ 

3. The mean for a normal distribution always lies 

between the median and the mode. (True/False) 

lkekU; forj.k ek/; ges’kk ekf/;dk vksj cgqyd ds chp 

gksrk gSA   ¼lR;@vlR;½ 

4. A pay-off table cannot include the probability value for 

each event.  (True/False) 

,d ykHk rkfydk esa izR;sd fLFkfr ds fy, lEHkkfor eku dks 

lfEefyr ugha fd;k tk ldrk gSA  ¼lR;@vlR;½ 

5. The use of non-parametric  tests depends on the normal 

distribution of the underlying population. (True/False) 

xSj&izkpy ijh{k.kksas dk iz;ksx varfuZfgr lexz ds lkekU; 

forj.k ij fuHkZj djrk gSSA   ¼lR;@vlR;½ 

6. Type II error is the probability of accepting null 

hypothesis when it is true. (True/False) 

Vkbi II =qfV] ‘kwU; ifjdYiuk dks Lohdkj djus dh laHkkouk 

gksrh gS tc og lR; gksA   ¼lR;@vlR;½ 

7. The coefficient of determination is the square of the 

correlation.  (True/False) 

fu/kkZj.k xq.kkad lglEcU/k xq.kkad dk oxZ gksrk gSA 

    ¼lR;@vlR;½ 
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8. Correlation coefficient and regression coefficient are 

independent.  (True/False) 

lglEcU/k xq.kkad vkSj izfrxeu xq.kkad Lora= gksrs gSaA 

    ¼lR;@vlR;½ 

9. A linear programming problem has a unique solution. 

(True/False) 

jSf[kd izksxzkfeax leL;k esas ,d ek= lek/kku gksrk gSA 

    ¼lR;@vlR;½ 

10. An assignment model does not have multiple solutions. 

(True/False) 

fu;ru izk:i esa fofo/k lek/kku ughas gksrs gSaA ¼lR;@vlR;½ 
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